3A1H(K)

EBOR BOEEAEHNAA
[7=Z1F1&TU]
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T AT T A,

mIf you turn right, you can see a train station.
AlICENDE BRBRAET,

mlf you get off the train station, you can see a
book store on the other side.

EREHDE. RSOAICHREDN R A S
mlf you transfer to a subway, 1t 1s 10 min.

EPTDOICEYMNZSDE, 109 TY,

ER
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(A9 HEMTED?
A [T HIEMNTEXRTHN,

1. R%BT We can go temples and shrines.

We can cross old bridges.

2. BAREBEBMN LEFICEDE

We can work for a Japanese company.

We can read Japanese manga and watch anime.

We can study abroad 1n Japan.



CAETBoENTES?

B. {29 HZEMTEEHAN,
.1 5?— @A(i Cannot rent an apartment

Cannot live alone

2. B%ﬁ\fib V& Cannot open a bank account

Cannot study abroad

Cannot buy a new car



Expressing “only”: 7=17

99 ¢¢

/=13 means “only,” “just,” or “exactly”

mCan be used with affirmative or negative
verb.

mDoes not imply insufficiency.
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+ .
Rules for using 7=[7F

1. Particles:
7=1F replaces [, 78, %
m  Put other particles before or after 7=[7F

2. 7=[F cannot stand alone--must follow a verb,
noun, or quantity expression.
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+ .
7=} Some examples

m We have only Japanese class today.

=5 BIFAARBEDIS LS TY,

m] only drink only a little (amount) of coffee.

nd—bt—ZDVUEITERAET,

A RA. BARATHFEICHITIO?
m B: No, only to Japan.
22A. BARIZEIT,
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+ .
/=17 Affirmative verbs only?

7=17 is most often used with affirmative verbs.

It can be used with negative verbs also, but with no
negative connotations.

L 3GER, FILWSELIIMELELIITE, &
FIEFLEHATLL,

2. A HDFAD. HOEERGFTATZD?
B: DOk, Fl=—M =75 ATV,

2/28/11



+
L /> +Negative

0 Generally implies nsufficiency.
m  Particle (L. /3. % are replaced by L2

m  Other particles precede L7

O Negative 1s used, but the amount referred to 1s the amount
V’ed.
0 Translation into English?
—DOUDEAFEATUIS

“I couldn’t buy but one”
Meaning: I bought only one

2/28/11
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L 7»: “Only (and not enough!)” |I

. IN—T4—ICBUMIFERFHATLE,
2. RICERYIDHEVZD =6, 2L
LMWEARFEHATLE,

3. WFHAIIPKAESTOLRLDHYE
ﬁ/llJ:O

/M
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+ .
Comparing U2 and 72(7

s— HHUDMBHYEH A,

m | only have 10,000 yen (and that’s
not enough).

— T AL BYET.
m | only have 10,000 yen.

2/28/11



Comparing U7 and 7213 |I

When more 1s expected but not
sufficient:

A: COBESTEOER. . .
B: DA. —AHEULMMFTWVEWDG, | |

A: UdH, boERTEDEHECAICLEK
S,

2/28/11



+ .
Comparing U2 and 72(7 |I

When no such expectation 1s implied:
A: ZOBIESEDERN. . .

B: DA, —ARALIFF>TWSALIT

A: TEWC &I, IL2ybh—R s
YN
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BT 1ETLD)

m 10 students came to class yesterday. [=4E 1
OANFELL]
) EDDDREICFEDRELIZN?
o ZZA. TENELEXLGWEERSF-ATII,
FEMNTOALZITERF LT,
b EDIDRFKICEEDN/LKESAFEEL
n7?

o LWW\ZR. 320&,FEKLHELEBE-ATIAA,
FEMNTOALMNEFEHEATLT =,

2/28/11



TEB T ETUD

m[t takes 20 min. [209 U ET]
2 RFEDS, A9 hPUELZN?
o HH. L oxEMMMNBELEHST-AT
TN, 209D YFHATL
T=s
by REDPLBEOERMDDIETLLD?
o LA, £o&EWEREST-ATT
N, 209 Y FEHEATLT =,

2/28/11



BT 1ETLD)

m] work 4 days a week. [—i1BEIC4B L/
=3
v BHAETICLLWTLLD?

o FH. Lo AFEERSEATY
A, —BBIC4 BT 55, (T
LTI &L,

b —BREICA B 7Z50WTNSATI HM?

o HH., LHEE=HZT-VLWATTITLE,
—EREIC4A B LTI EFEA,
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T TEFIETUD)

mWe have one sushi restaurant. [TUEDP—D
HYET ]

o) CZlIOHHEWNL. BFEAHZWLWTL
ENESSAHBDTLLD?

o “D~MN, TOIWTATIITE., | .

TLEN—DLIMEWVATYT &,
by ol WAHEWNL., DAMHIRLDS,
IUEITGZVNTULD,
o LWL LIS, HFEYBULLLAGWTE
TLEN—DEITHAHATT,
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